(CS4104 Spring 2007 Homework Assignment 8
Due at 11:00pm on Tuesday, March 20
50 Points

1. [15 points] Show that |3n/2] +1=[(3n+1)/2].

2. [15 points] Use constructive induction to find f’s growth rate if

f(n) = f(n/a) + f(n —n/a) + O(n).
3. [20 points] Given an n x m array of numbers where each of the n rows of m numbers are sorted
in increasing order from left to right.

(a) Show that if we sort the numbers in each column in increasing order from top to bottom then
the rows are still sorted in increasing order from left to right.

(b) Will the rows still be in increasing order from left to right if we sort the columns in decreasing
order from top to bottom?



